201 9%E2H ETC2.0 (DSRC) EiERIFL

BoeE B ]
BRI ast
1(&38) 2(KEY) 3(K) 4(RaY) 5(8) —RE

B[R] 1,783 111 13 133 86 16 2,126
SRR 409 62 0 45 46 8 562
aFR8 507 35 1 37 42 7 622
=R 1,503 109 10 115 190 61 1,927
AR 372 23 0 14 52 2 461
LR 625 37 1 20 53 15 736
mEE 1,372 126 15 104 132 31 1,749
KR 2,924 153 14 183 386 134 3,660
N 1,871 93 2 122 259 94 2,347
HER 2,327 104 3 165 272 75 2,871
BEE 8,453 359 11 729 1,690 554 11,242
FEE 6,153 331 35 495 950 412 7,964
RRED 15,863 199 27 730 1,911 950 18,730
fESNS 10,358 273 33 524 1,839 771 13,027
Hino i 980 77 4 95 130 30 1,286
2R 553 49 1 30 47 15 680
alllR 679 30 1 37 80 27 827
BHE 537 27 3 41 50 11 658
LLBR 745 48 1 36 102 22 932
REFE 1,282 81 2 82 175 37 1,622
I RIS 1,583 92 3 91 187 42 1,956
EEIR 3,200 165 8 170 550 175 4,093
BHIR 8,146 338 34 429 968 327 9,915
=ER 1,426 87 1 62 241 47 1,817
BER 910 73 2 44 143 44 1,172
RERRT 1,742 110 6 109 317 137 2,284
ABRAT 7,676 483 23 739 1,008 487 9,929
"ER 4,400 160 11 177 619 266 5,367
ZRE 978 58 3 57 112 37 1,208
AL 618 43 1 51 119 26 832
SR 287 11 0] 9 40 12 347
ERE 329 15 2 13 72 16 431
A L= 1,307 125 8 92 181 67 1,713
LBE 1,879 147 29 146 365 148 2,566
Hijm[= 899 77 2 56 135 29 1,169
e 400 14 0 18 56 6 488
&HIIE 603 32 5 33 82 41 755
BER 768 68 2 47 120 36 1,005
=R 331 23 2 9 66 19 431
ERR 3,450 241 15 230 473 191 4,409
EER 371 65 4 41 48 16 529
RIBE 641 42 5 25 133 39 846
HEARIR 827 64 3 59 105 33 1,058
AHE 572 35 O] 45 114 31 766
=IFE 528 42 0 20 89 19 679
BREE 726 52 1 63 88 19 930
RIS 227 3 0] 8 29 19 267
tT=4 0 0 0 0 0 0 0

a&t 104,120 4,992 347 6,580 14,952 5,601 130,991




201 9FE2H ETC2.0 (DSRC) ESiERIFEY - iR

BoeE B ]
BRI szt
1(&38) 2(KEY) 3(K) 4(FREY) 5(8) ==
B[R] 1,274 83 6 103 63 7 1,529
SRR 326 33 0 22 43 8 424
aF= 408 21 0] 17 37 6 483
=R 1,166 76 7 70 165 51 1,484
AR 314 13 0 7 51 2 385
LR 530 20 1 12 46 11 609
mEE 1,127 91 € 68 121 24 1,416
KR 2,373 97 7 110 315 98 2,902
N 1,499 58 1 86 233 77 1,877
HER 1,892 69 2 129 229 54 2,321
BEE 6,702 254 5 553 1,441 437 8,955
FEE 4,941 221 11 344 817 335 6,334
RRED 12,590 126 14 570 1,690 804 14,990
fESNS 8,544 202 11 413 1,672 679 10,842
Hino i 744 43 4 61 110 24 962
2R 412 32 0 18 42 12 504
alllR 506 20 0 26 67 21 619
BHE 403 16 1 35 45 9 500
LIS 615 34 1 28 82 13 760
REFE 992 51 0 59 146 25 1,248
I RIS 1,234 53 1 71 153 31 1,512
EEIR 2,624 110 8 136 473 142 3,351
BHIR 6,177 214 30 310 837 254 7,568
=ER 1,141 60 1 46 201 34 1,449
BER 740 26 0 23 117 31 906
RERRT 1,409 60 0 59 266 106 1,794
ARRAT 6,235 315 4 535 850 382 7,939
"ER 3,482 106 9 124 521 205 4,242
ZRE 790 30 0 46 91 30 957
AL 502 28 0 30 94 18 654
SWE 204 9 0 9 36 11 258
ERE 272 5 1 11 62 13 351
A L= 997 76 5 53 156 53 1,287
LBE 1,501 110 26 90 316 116 2,043
Hijm[= 712 35 1 41 118 27 907
e 326 8 0 15 54 5 403
&HIIE 446 19 1 20 70 39 556
BER 616 55 0 33 105 28 809
=S 276 10 0] 5 58 16 349
ERR 2,572 160 2 162 418 160 3,314
EER 313 30 0 28 45 13 416
RIBE 526 14 1 14 119 34 674
HEARIR 588 48 0] 37 88 24 761
AHE 462 21 O] 29 107 27 619
=IFE 443 29 0 12 82 16 566
BREE 583 29 1 44 81 18 738
RIS 180 1 0] 3 28 18 212
tT=4 0 0 0 0 0 0 0
a&t 82,709 3,221 171 4,717 12,961 4,548 103,779




